
 

o
Ci 0 i 2 mods

8 i t i 2 1 mod 5

N evmimfm e

D in DFA es 8 is a total function
8 is uniquely defined for each

pair in QxE
non DFA 8 go 11 490,9

8 go 07 4 go

9.0
any missing

transition reject
when you

come to a fork in the

google.gg
road take it g

0
g ga

90909 X 90g 90g 9g 91g



90909 X 9 go 90990In DFA there's a unique walk for
any input sting

1h am NFA themes are 0 or more

walks for each string
Au NFA accepts strong w if
some walk starting at s ends in

accepting
state

DFA E Q T s A

NFA E Q f s A

8 QxE 2 PCQ

8 QxE 2Q
8 g E 293
8 apax pe a

8 4

8Cgo 11 490,9
8 go 07 4 go

90
8 go 01 U

PEGgo o
Mp 1



8 go 011 8490,1
4999,92 U

8 90,010 pescqo.ly
EP't

2903 U

PELgo.ggftp.EJNFANaeqpbw
ifh999

Ecs a n At 0

egg
94 9

es I 4 F
137259374

374

grenen M 90909192 X 13749

original N 90909192 X
9090909090 9,9293

e.in o
a

o
E

I 2 3 E

go 90 go 9 93



8 Q x Ethos 2

a
N Is 4

o

fo a f
Nz is Is Is

E reach Q 2
Q

the set of all stoles
reachable

why only c transitions

c readers of Lg go go

8 q E E reeds g

819 axt peuereed.gg Sep
D

skyx8 1953 7
pVegago go 54,97

o
o
said

go 90 9


